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Rencontre botanique  

Tableau de croisement des gamètes des 2 individus étudiés 

  Gamète du parent 2 

  (GT) (Gt) (gt) (gT) 

Gamète du 
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(GT) 

(GGTT)  
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verte ; grande 

plante 

(GGTt) 
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verte ; grande 

plante 

(GgTt) 

[GT] = gousse 

verte ; grande 

plante 

(GgTT) 

[GT] = gousse 

verte ; grande 

plante 

(Gt) 

(GGTt) 

[GT] = gousse 

verte ; grande 

plante 

(GGtt)  

[GT] = gousse 

verte ; petite 

plante 

(Ggtt) 

[GT] = gousse 

verte ; petite 

plante 

(GgtT) 

[GT] = gousse 

verte ; grande 

plante 
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